Notes 5.5 — More on Particle Motion
Finding Net and Total Distance

The graph below represents the velocity, v(r) which is measured in meters per second, of a particle
moving along the x — axis.
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At what value(s) of f does the particle haven the interval (0, 10)? Justify your answer.
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Express the acceleration, a(f), as a piecewise-defined function on the interval (0, 10).
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For what value(s) of ¢ is the particle moving to the right? To the left? Justify your answer.
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Find the average acceleration of the particle on the interval [1, 8]. Show your work.
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If a particle is moving in the same direction the entire amount of time, what can be said about the net
distance and the total distance?
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To Find the Net Distance a Particle Travels on an Interval
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To Find the Total Distance a Particle Travels on an Interval
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e position of a particle is given by the function p(¢) = 263 —61% + 81 where p(f) is measured in

@’ Find the neflan the particle travels from 7 = 1.5 seconds to ¢ = 4 seconds.

D‘DCS Fre particl® Clung diveotin onCI.S,q)

ot Dotwne = | pU5) = pld | = ST.S cm

viey=p'(t) = G- 12t +8

O=6(t -2t *\ )8 -
O G(t-1) 2

= (&~
ENEAER 25 £5UND

/Le, J-e‘l@\ OUS-\&VL({_ (S also SES ew beCaMs( ‘H\L Mf}(cle LS Cf(,u.ays
mMoving VY on Q § %3 bthux \/U:\)O Om C(o§ ‘—l)

AP* Calculus AB Page 42 of 72




heposition of a particle is given by the function p(¢) = e?! — 8¢ where p(t) is measured in feet. Find the
net and total distance the particle travels from # = 0.5 minutes to 7 = 1.5 minutes.
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The position of a particle is given by the function p(r) = ¢ + 2sin r Where p(7) is measured in feet. Find the
net and total distance the particle travels from # = Z minutes to 7 = 3Z minutes.

Met Dstue = | p(%) — p( L)

Chong  OWejon !
V(«{:\: | < 2csst

= 0,98 Feet

&) - (4(9'60$t«

- = Q—O’St

"-S;-z C,@St

o}

t="%
Se T perticdt chongs divection ot £ 78
vit) | | |

'W/u 37'5 57{1

<

Todal Drstane = \ p(Te) - pCTD

o(%) —p (F)

% 2,617 Reet

AP* Calculus AB Page 43 of 72



AP* Calculus AB Page 44 of 72



